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| Chem 112000-2 Winter 2022 Final Review

The following questions cover content from the entire quarter but in no way represent every-
thing that you can be tested on. These questions should be supplemented with understanding
of all homework problems, discussion worksheet problems, as well as the 3 midterms. Fur-
thermore, the only additional material that should be needed to complete these questions is
a calculator and a periodic table (in addition to the constants/values provided on this front
page).

Some useful constants:

1.

10.
11.
12.
13.

Boltzmann Constant k = 1.38 x 10~2 J/K

2. Avogadro Number N, = 6.02 x 10%
3. Speed of light is 3 x 108 m/s

4. Planck’s constant is 6.626 x 1073* Js
5.
6
7.
8
9

Mass of electron is 9.1 x 10731 kg

. 1 Joule is 6.42 x 10'8 eV

. Gas Constant R = 8.314 J /(mol K) = 0.0821 (1 atm)/(mol K) = 2.00 cal/(mol K)
. Specific heat capacity of ethanol: cges = 1.702 J/g-K and cjiquia = 2.443 J/g- K

. Normal boiling point of ethanol is 78.4°C

K, of HCN is 4.9 x 107°

K, of HNO, is 4.6 x 10~

K, of NH3 is 1.8 x 1075

K = 8.90 x 1077 for AgsPOy4
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1. For the following questions, select the ONE correct answer for each multiple choice
question.

(a) Which of the following is true of an unsaturated solution?
) Q> K
@Q < Kgp
) Q=K
D) @ =K'
E) Q=

(b) The initial product to reactant ratio for an equilibrium reaction is found to be
2.40 x 10°. If the reaction must shift in the reverse (backwards) direction to reach
equilibrium, which of the following is a possible value for the equilibrium constant,
Keq for this reaction?

) —2.40 x 10°
.2 40 x 107°
) 2.40 x 10°
D) 2.40 x 10'5
E) O
(¢) The following equilibrium was established in a reaction flask
Y(s)+Z(g) +Alg) = 2X(g)
Which of the following actions would results in an increase in [X] in the reaction
flask?
A) Adding more solid Y
B) Adding a catalyst
C) Increasing pressure on the flask
D) Increasing the flask’s volume

one of the above
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(d) What is the K, for a 0.10 M weak acid solution that is found to be 1.50% ionized?
A) 1.5x 107

B) 1.5
C) 0.23

2.3 x 10-

E) 2.3 x 1076

(e) Which of the following combinations of equal volumes of solution will result in a
buffer?

1. 0.1 M HCI + 0.1 M NH;

2. 0.1 M HNO; + 0.05 M NaOH
3. 0.05 M HNO, + 0.05 M NHj,3

E) 2 and 3 only
(f) Who discovered the exact location of electrons in atoms?
A) Rutherford
B) Bohr
C) Schrodinger
D) Heisenberg
E None of the above
(g) Which of the following is certainly true about a single, neutral atom of manganese?
A) It has a mass of exactly 54.95 atomic mass units.
B) Its two highest energy electrons are located in a spherically-shaped orbital.

C) Its nucleus contains as many protons as it does neutrons.

To form a +1 cation, an electron will be removed from a d orbital.
E)

It contains unpaired electrons.
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(h) Which of the following statements regarding Valence Bond Theory is not true?

With a set of hybridized atomic orbitals, half of the orbitals are anti-bonding
orbitals.

B) Lone pairs of electrons on the central atom of a molecule are located in hybrid
orbitals.

C) There are four orbitals in a set of sp* hybridized orbitals.

D) An orbital hybridization of sp? is impossible, even in a trigonal bipyramidal
molecule.

E) An atom of phosphorus does not need to promote any electrons before it can
hybridize its orbitals to engage in bonding with hydrogen atoms to form the
molecule PHj.

(i) Select the atom or ion with the incorrect electornic configuration:
) Mo: [Kr]5s'4d®
'Cu Ar]4s'3d?
) Ce: [Xe] 6s?5d'4f!
D) Eut? [Xe]4f”
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2. Would you expect a solution of aqueous ammonium cyanide to be acidic, basic, or

neutral? As part of your explanation, please include chemical equations showing how
relevant particles react in the aqueous solution to impact the pH.

b 5 of” NH 08 (o8 consumed  vie i wy/ W Hyq')
V™4 pt = kv (KB ayemd  ra rxn oY/ ")
Bt cawse {“WWWYO( @wggb w ela,ui libiom . e cam

3¢ Whida ha&?—pwﬁ\lﬁ(ui M ﬂ/ ,@; /Do’ﬁn/y at Ka's.

4 J.00 wo~
Kk %/I/Uq "
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[ Ex
Ko % V== 1ox0™ 9 o4 w07
4.9%07)

Wk, Th > ks WAt U sk e folly phen
4t o fome mae 047 So shootd . hosic.

3. What minimum volume of pure water would be needed to dissolve exactly 1.00 g of
AgsP0O,? (Assume the volume occupied by the solid doesn’t contribute to the overall

solution volume.) /b 3 PO,,’ = 2 Aa-f A Jyo% 2-
— S O
- 4335 +9

3 & 35 L
k’r: [Af] [70‘13]’ (55 3
= £9000™ - [75% 5 S 42T M Ay 704
.00 Po "3
| 5 /]93 ”‘i% _ 439 Wo g )43)?0“
V- 4 . A3 X7 pof .

— 0 el ARy

Sk-
V-MX/O’YM J 0-1 L pore walen

—




Chem 11200-2 Section 33 Final Review, Page 6 of 16 Winter 2022

4. Imagine that a stable atom of 3}9Q were discovered.

(a) Write the abbreviated (noble gas shortcut) ground state electron configuration for

Q.

) 35l 557 6o 8 75
v

(] % sp16d "2,

(b) Which element would you expect Q to be most similar to in terms of chemical
reactivity? Why?

Clweds ot mopt Lk Vo an the domt group- e
A shod he hwe Ak

(c) Write a set of quantum numbers that would represent a valence electron in the
highest energy orbital occupied in an element of Q.

n= * j’/ M(:Oi\ M5> th

4

(d) Would you expect a neutral atom of Q to be paramagnetic? Why?

Q ﬁw l uM,ﬂaMo( AR l/é& T e)‘ﬂld me

(e) To make an atom of this nuclide smaller in size, would you want to add or take
away an electron? Explain.

ﬁ% 6104/\’?3) S 9{{; wth &M ¢ S wR
MF o Sl udios
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5. When a glass tube full of hydrogen gas is electrified, we only see 3 specific wavelengths
of light when viewing the tube through prism glasses. Respond to each of the following
related questions, using 100 words or fewer for each response.

(a) Describe the atomic level process that leads to the production of visible light in this

experiment.
e« Whun abe ahsak E i e bt £ b jomeg B
s, o g 50 ¢ pmquit £ g
 Ulaxatun w0 same anmunts) E fo he arhasd

* Ooantn/ Mgtms 7 £ ant assooared ot @pw%'t W
B EM fodichin Tt fa/éw‘n Vis e fegon.

(b) Why do we only see specific, distinct wavelengths of light in that experiment as
opposed to the full rainbow spectrum?

Thor is a lowikdd # g oty £ Hmerhaa Yty e
Om Wadke- Thin veyall m Wf%\c Wﬁﬂg%
tdpidy  conolued) oo V;?#W -

(c) Were those the only wavelengths of electromagnetic radiation given off during the
process of giving energy to the hydrogen atoms? Explain.

Poge - Only Yoot T fall T Yl WIS 0550n - 87 Framdihns
b %L‘M ? lWE CCWLQ”MMVNIR(\%AM

6. Consider the following three specifies: Oq, 0,%*, and 05%".
(a) How do these three species compare in terms of bond length?
andd Lngth

0,7 (10 ol g7) = PY© hand
9 ([L Van/l,{Q 6') =) M(L }/KM‘O 0L1’7 0,> Olu
N1 tadie ) D syt Jawd

(b) How can O, be magnetic even though it has an even number of total valence elec-
trons?

ke Ll M diicrmm o O, tone mueh he of lost
Ty b
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7. In terms of electron configuration, shielding, and/or effective nuclear charge, explain the
overall location of the most reactive non-metals on the Periodic Table (Don’t just state

trends!)
 Non- yads  reack % wn}e
Most feachw un- QZ by Myt T
Irend txcldee wente uded:

ACVBSS 91 e QJJLJ fo m 2424414,9 2'(,{1-.
C‘Mpdﬂwe Cloger. Daon <y WWWW%
Motant (}WAﬁ (uAJJ bcﬂ'mmfm s h UJ/V; loer Loy -

Tt 3, Yhere tuure M;}; b Moy 80F w1 S sagihd

[of Flovime) . Eyclest b o ot fo poor shieldin bk de

8. Consider the following molecule of acetaminophen (Tylenol), in which all bonds between
atoms are shown but any lone pairs that exist on atoms are not shown:

H 4
H cli
(0] \C/ H
U9
>C/ R
H
[

<bp®)
(a) What are the hybridization of the orbitals in C and O, respectively in bond 17 () ( 5? 3)
(b) How many o and 7 bonds, respectively, are involved in bond 27 / c, In

¢) What should the geometry of the molecule be around atom 37 JPWu—Q P’WV‘M

(e) What kinds of orbital does the lone pair of electrons on atom 5 occupy? 3
(

(g) Which hydrogen is the most acidic? Box it.

ahoue .

)
(c)
(d) What would you estimate the C-O-H bond angle to be around atom 47 £ /0'} .
)
)
)

f) Which carbon/oxygen bond in the molecule should be the longest? Circle it] Ste
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9. Consider the ionization of pure water: H,O (1) == H* (aq) + OH™ (aq).

TCl| K
10 [293x10°%°
25 | 1.00 x 107
40 |2.92x 107

(a) Is the forward process endothermic or exothermic? Explain using the table of data
provided.

K nonesses (,0/ Temp- R 3 eneld Hhaamic.

(b) How would you expect the pH of pure water to change as the temperature increases?

SV hw woumo w/ Tawp - [K) \aoresseo o oup-
ot il Adipaase -

c) Is pure water at hlgher tem rratures acidic, basic, or neutral? Explain.

W @OH&&OIW
o [K]-[on] ia VW"}WW

Yo M
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10. 216.2 kJ of energy are given off as 235.0 grams of ethanol (CH;CH,OH) are cooled in a
sealed flask from 100°C down to 60.0°C.

(a) Given this (along with data on the front page), calculate the vapor pressure (in mm
Hg) of the ethanol in the container once it reaches a temperature of 60.0°C.

Z*"‘; M. s BT 4 ﬂlll-\vq,v+ MCUTQT
by - @g{.o)([,%l)(?ﬁ°l J00) + @35) Gee )OH\{W
4 13r)(1.qb/3) (0.0~ 75.4) J
AHVW 1 3556 Yot
A/&M B 55 E 43 9 7’37( /Llad W"L/]WJZ %Omm%.
(.)S\ ILW Q_S_ l’z
MR

?k ) ,_A/\l’(} _ .).) KM>(¢3K ] ji/T""‘)
bg

g
o0 W 5512 ¢

(b) The vapor pressure of propane (CH;CH,CH3) at 60.0°C is significantly higher than
that of ethanol at the same temperature, even though their molar masses are qulte

similar. Explain why.
ErH dan - g (Thos propant only s sbtpusch
meed. | -Viandom Shomgen 5o M |

Mh? N ay‘*a/,g,aav‘bl/k
WW ; (g WJ“VW‘W‘W o
/)LW Hhan ¢4ah-
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11. Determine the pH of each of the following solutions to two decimal points.
(a) Solution A: A 125 mL solution of 0.230 M Ba(OH)s,.

023 M Ba (o) x 2t 5 0 motenhy ot ”
o

?UH—- ’/da,laH'Jv 0.33% fH,/'y,fang)IJ(o(.s

(b) Solution B: Solution A + 200 mL of 0.185 M HNOs,.

Dalot)e + HNVO; —3 W0 + G (W)
002535 m g.a30med = —
-~ 0Q(ys0 m g0 3TFOmod o o

0-Olors” yf omdd

o PJQ(O\Q,_ R ICISE 0-210%™ mok (3 (OH), = 0.0 mek oW~
M_ 0-0wo5 M

0-06%) M o4~
0 sy 0-1@1
Pt -lo (0.0634) = |20 pH=/4-pTH = [12.80)

(c) Solution C: Solution B + another 200 mL of 0.185 M HNO,.
0185 ) (0-vosL) = 00 mak W%

0230 M) (0nrt) < 0- 0P molk Gaoh)y . M ol bt © Balow),

and  0dfes mA Hwo, W TV

0-0U 5 mal Bulti)y ylmet BN, o Tl WO DT MJ) o
Janod B&(Oh) lm”( dek

?,, 5<QNO‘9F/9(005’?5’M0(/U0)

0 0lbs” mol AR,

-~ 3. 73%+4 @.5/L7L—,’?.38(
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12. How many grams of KOH must be added to 2.00 total L of a buffer solution made up of
0.125 M HF and 0.235 M KF in order to change its pH by 0.20 pH units? (Assume no
change in total solution volume upon addition of solid.)

’t)’&q ozfé»\\wl -
) 0- 5 MF
Q\’(—- o+ /w} A%H . ,/% é.ﬂ’woﬂ)ﬂa (o m’mm*) 3-73
C[w?« %onw s 2 }7"?‘*(’”" 7.73 . XOW neats hs;&lr{

Fr fww\ HE.  §o:

LA Hoeo — ¥ ¢ #°

Q"jj’ - —  0BSM
. : - + X

L e L

s x O- L3¢ +x

Vot ! e
P sty o) 4ty )
- &ﬁ?ﬁ _ (Q 35 +X)MF

(01s” ~X) map-
% 0.
0-9344 a4t kou M{M

T-0399 ¢
OH vz.00 L
¥ % Taly 13 Bbo\ko’)%

=) X= 0:0394 M HF peeit.
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13. (a) Using the materials provided below, describe precisely how you would make 3.0 L
of a pH 10.2 buffer solution. Indicate the exact quantities (in units of L or grams)
of each component that would be needed to establish your buffer system (You must
use exactly 250 mL of which ever acid or base you choose.) Show all relevant

calculations. .P_Y:-

Acetic acid | HCH3CO; | K, =18x107°  {.79
Chlorous acid | HCIO; | K,=11x10"" | 4¢,
Iodic acid HIO; K,=17x10"" .31
Ammonia NH; K,=18x10° 1.6
Aniline CeHsNH, | K, =3.9x 10710 4.5
Methylamine | CH3NH, | Kp=4.4x10"" (5, G Y

Table 1: Dissociation Constants at 25°C

Materials provided:
1. 1.5 M solutions of each acid/base in the table.

2. Unlimited masses of each of the following: NaCH3CHO; (s), NH4Cl (s), NaClOy (s),
CH3;NH;Cl (s), NalOj (s), CeHsNH3Cl (s).

3 Deionized water C}/wﬂk WH’I‘NB Mﬁm P.k“ (’M}( fo fwv;,(,pr .
PH’ ﬂk” { %“% =) b hask
09 = Jo.1= J0.6Y 4+ {oa (éfi‘),, = 0.363.

[SMX 02C = 037 mef hoge adddd. =D 0«77 haSAL 9. B3
= U353 VTR = et
mekChs Ul mehd = (97'?2 Chh 3l aeded.
Yo, [ €17y (Hawh
A59.0 ml 06 [+ M CHJ}/UH2
Ir L H,0

(b) After you've made the buffer in part (a), you add in 12.5 g of Sr(OH), (s) and 50.0
mL of 2.2 M HCL. What is the final pH of the solution after everything has reacted?

ll.f-; (v(o“})"—% 0 206 moAOH™  pesths wnn CH-}A/H3+
008 L x 2.1M = o'l med Hof = 0-ll mol KT peah wnt CHywH,

ChyWHy WD = Chspt 4 o™ _p. 106y 4 fe 24T
o 3%’ _ 017)2 : ¢ i /9 0932
4 0.20% o 527 — = J10. 39
0-5’5/’ <+ o-\l

. el

ot 0471 M i
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14. Draw a picture showing all molecular orbitals created by taking linear combination of
all 2p orbitals with each other. Label them from lowest energy to highest energy and
state each whether g, u, or no symbol applies.

(O o@® o3

Lo

15. Draw a picture showing a linear combination of atomic orbitals that each produce one
molecular orbital containing 2 nodes. Note the nodes must involve the internuclear axis.
Please label the atomic and molecular orbitals and state whether each is g or u.

L

1
1 .lnoM (J(CUNA

9
hi-
i P
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16. Suppose we have both gold foil, and gaseous gold atoms.
(a) Explain the difference between ionization energy and the work function.
Tonitehin 41/%3 &Mw NIDANM o fomod el)@VWL 90{;6905
atm (ntvind |,

(Wovic ﬁ"wﬁ‘*’“ W W‘,M/ fo ot ¢” by o btk Sotadl

(b) Suppose we hit the gold foil with 100 nm light and observe electrons ejected moving
at 1.57 x 10® m/s. What is the work function for gold in eV?

Es e - @a-h(s xo” 31 35)( 3 xio¥ Mis) 198§ X{O-/‘Zj
~ e = WEE

‘7L_M\/’~= i! (6’8 X(O’B‘%)(['T}X/OG)LMVSI—, In l}' X((;I&J_
- “‘“8 wo - |z x/o"y)\T)(, 6-Y Lyo' YoV
Jov'X
253 ¢

(c) Suppose we hit the gaseous gold atoms with 100 nm light and the slowest electrons
we observe move at 1.05 x 106 m/s. What is the first ionization energy of gold in

eV?
E- .98y wo @3 (samar ae-ahowt).

Yo F 1 - -19
2 iy {(ﬁ.yx/o’“%) (Losyo®mj) = §-Aexo T

F TE- (E- imv) G %V g [95eV

Il

(d) Which electron has the greater de Broglic wavelength? Compute it.

NG o v
G- 62 %o '35 }Q. 13 %o " meters

(T.I Yo ! 5) (.05 510 )

5ymul/L V= blbél/\ A‘p@- L /)a,ﬁl(
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(e) Which subshell will the electron be emitted from in the gaseous gold atoms? Esti-
mate Z.;; for this electron. Av 135 X{] "(9"7 o L Gs)

)7\/\1 ©5 subshut] | 54, PSS shel) ?ZM =2 [8 ¢ at 085, Goe-

WM h-T o bwen.

79- 0o- 52|33 = e {

(f) Estimate the orbital energy for the electron that is ejected during ionization.

Ep - (’z’_cfi)l n=6
Y

> - 136 e/v@zj’_)l | S’./h\/f

(g) Estimate the first ionization energy for gold using the orbital energy. How close did

we get to the experimental value? TF Humt amy ol&S(Npmu\Gd i Comw k- MW
Tl D 90FeV (Hwuked)
M omy 9@6 Mane Vo Sy ,ou(%ﬁu%aﬂmcmﬁrm
e ahed a Wt r/Wlwt‘_ Qpra s
%\/w« S ;%,) Covtd e sasproved W frIH
Clechwmae  Swavu calcd ok -

(h) If you did the previous parts correctly, you will have used the Hartree approximation
and Koopman’s theorem. What are each’s key assumption. Finally, identify which
parts above you used each for.

Hovine? &= mtove ou am 0 WLWM e el
ol Mmamn e - wa.%ﬂbfm. lg

OZUQ Y% ‘2%( E )

)WM G Tl ¥ samm aﬂu gy cmee -
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